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Please check that this question paper contains 15 printed pages.

Code number given on the right hand side of the question paper should be written on the
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15 minute time has been allotted to read this question paper. The question paper will be
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(i) At geT S & |
(i) FOT-GEAT1 G5 T ST oTg-371T 797 & 37K 9 9§97 & 70 1 37 & |
(iii) TeA-GIT6 T 10 TF Tg-3TRIT T¥7 & 3% IAF J97 & o702 3F & |
(iv) FoT-GEAT 11 T 22 7% 5 Tg-3R09 J97 & 37¥ Jediah 797 & [or0 3 Siah & |
(v) TE-GEI 23 GeATRa 79 & 3 59% e 4 3FE |
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(vii) Tl STTTIH &, T AT 26T BT HANT I | Fergpeiet & ST B} SHT G & |
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General Instructions :

56/1/2

(i)  All questions are compulsory.
(ii))  Questions number 1 to 5 are very short-answer questions and carry 1 mark each.
(iii)  Questions number 6 to 10 are short-answer questions and carry 2 marks each.

(iv)  Questions number 11 to 22 are also short-answer questions and carry 3 marks

each.
(v)  Question number 23 is a value based question and carry 4 marks.
(vi)  Questions number 24 to 26 are long-answer questions and carry 5§ marks each.

(vii) Use log tables, if necessary. Use of calculators is not allowed.

Tt srershuT SIS heTehIa Hehet T el S d 7 1

Why are low spin tetrahedral complexes not formed ?

freferftaa =nfires o1 3ms 3, 6. v . am forfem : 1
OH

NO,

NO,

Write [UPAC name of the following compound :
OH

NO,

NO,

for R % ufesaTss Tesla HEH QA § 7 1
What type of aldehydes undergo Aldol condensation ?

Y SRR JTASd B TaEEe did %1 @hed i & fou f=fafed § 9 <9
Heifereh gHTERITet BT 7 1
(i) NaNO, (i) Na,SO, (i) (NH,), PO,

Which of the following is most effective in coagulating positively charged hydrated
ferric oxide sol ?

(i) NaNO, (i) Na,SO, (ii) (NH,), PO,
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s gTfeds @ ABC ABC ... 32 o Soieh H fshecfidha BiaT 8 31 39 YR il &

o ¥ $ thwal @ STt 2 | 38 =rawen § ffifa form @@ & gw=mn aeft ¢ 1

A metallic element crystallises into a lattice having a ABC ABC ..... pattern and
packing of spheres leaves out voids in the lattice. What type of structure is formed by

this arrangement ?

“ FMUTHIERINER A (H;PO,) 9=k T&i 8 Fafeh BEUIBIEhE 3 (H3PO,) Th

Teet STTER & |7 Ueh 3fd IgratT i TErd ¥ SURh YU hi Sredt ud gfE FHifiw | 2

FYar
(a) N,Os T 18IS ! TEESIehal HIT 8 ?
(b) SbH; ¥ BiH; YTt HAY=T% &, 941 ?

“Orthophosphoric acid (H;PO,) is non-reducing whereas hypophosphorus acid (H;PO,)

is a strong reducing agent.” Explain and justify the above statement with suitable

example.
OR

(a) What is the covalence of nitrogen in N,Oy ?

(b)  BiHj is a stronger reducing agent than SbH,, why ?

freferfiad ufceher Bemeei % grer § & N @ (i) HIgl 8 3 (i) S ! R disar &
qm ? 2
(@) (CH,);CBr

(b) CH,CH,CHBrCH,

Which alkyl halide from the following pair is (i) Chiral and (ii) undergoes Sy! reaction

faster ?
(a) (CH;);CBr

(b) CH,CH,CHBrCH,

3 [P.T.O.
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8. U UHM MGRAT R—P o foTe @wa & ufd R i wigan # aiad i = o6 § gurin

TR |

[Ro]

T
:
4

9y —>

39 FAfforan & fou
(i)  Frferan i ife i g Hifse
(i) 97 fRre (k) Fi 3hE @R 2

For a chemical reaction R—P, variation of concentration of R vs time plot is given

below :

[Ro]

Concentration of R —>

Time —>

For this reaction
(i)  Predict the order of reaction

(i1)  What is the unit of rate constant (k) ?

9. 1 foret uri ® 1 Hiet o et Tt Tt T FaUATH ¢ ST & | SRS Shitee = |

Explain why on addition of 1 mol of glucose to 1 litre of water, the boiling point of
water increases.

56/1/2 4

Schedule a Tutoring Session today!
Call Now: 91729 66488 )

wWww . premacademy . com




Place for Rational & Educational Motivations!!

10. fr=fafad & fore sro e 2
(i) SO, I HGH S — O EY AT HHIA 7 |
(i) TR 319 AFTehi § haet —1 ITTaRATehToT ST Yefia i 2 |
Account for the following :
(i) Two S -0 bond lengths in SO, are equal.

(ii)  Fluorine shows only —1 oxidation state in its compounds.

11. (a) ST fore TehR o1 oie IUfeq BT 2 2 3
(b) 1 H o oo 3T e H ger et faerfiei @ ush-ueh sem A |
(c) TohIE <hl URRHTS 6T 3MfEd Hifsr |
(a) What type of linkage is present in proteins ?
(b) Give one example each of water soluble and fat soluble vitamins.

(c) Draw pyranose structure of glucose.

12. frafafea gl @ aftfya Hif 3
(i) hred™
(i) U
(i) Sega-Tfereh fava
Define the following terms :
(i) Kraft temperature
(i) Peptization
(iii) Electrokinetic potential

13. wHa ¥R R f=fafaa & fafecfa ywara =t fafae aon 3 i & e o 9 gafua 8
IYH[ Joid ﬁﬁlﬁ § 3
() W
(i) #EH
(i) ofErfE
Write the therapeutic action of following on human body and mention the class of
drugs to which each of these belong :

(i) Ranitidine
(ii)) Morphine
(iii) Aspirin

56/1/2 5 [P.T.O.
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14. fr=fafga sfufsrnsti @ A, B 3R C 6 g™ Hife :

. e H/Ni  CHCOCHSR
HBF4 NaNO/Cu Sn/HC!
> A x >B

N

.o + -
(i) CgHsN,CI

Identify A, B and C in the following reactions :

) Ethanolic . H,/Ni . CH3COCI/Base\
(i) CH,;CH,CI NaCN A >B C
HBF4 NaNO»/Cu Sn/HCI/

N A A N B

Sy

.o + -
(i) CgHsN,CI

15. (a) T E@1IR S CH; — O — CH, %1 HI & |7 TR fepar Siman 2 7

(b) 3 3T wef o SerdieH <t fspafefy amemse

+

CH,=CH, +H,0— cH, - cH, - oH
(a)  What happens when CH; — O — CHj; is heated with HI ?

(b) Explain mechanism for hydration of acid catalyzed ethene :

+

CH, = CH, + H,0 —H— CH, - CH, - OH

16. Teh awd fee STeteh | fspeefera gt & fraehl Hifet % S 1 s 400 pm 2 | Afe 39
T % 250 g H 2.5 x 1024 qTHT0] B O $HehT Tcd URehford shifory |

An element crystallises in fcc lattice with cell edge of 400 pm. Calculate its density if

250 g of this element contain 2.5 x 1024 atoms.

56/1/2 6
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(a) oTgai % ‘arsy e uftsskr fafer & ey fiagra @i fofaw | 3
(b) Tfafaa e faf gro uftsepa a1q 1 am fafag :
(i) TS TshH
(i) -3 farfer
() W e faftr § starwes < o e € 7
(a)  Write the principle involved in the “vapour phase refining’ of metals.
(b)  Write the name of the metal refined by each of the following processes :
(i) Mond process

(ii)) van Arkel method

(c) What is the role of depressant in froth floatation process ?

400 K T A 3R B gdi % 9199 €1« shAST: 450 37 700 mmHg 8 | A Hifse gat o fagror
%1 FEreA Afe THS01 1 38 919 9 el a1 g 600 mmHg 7 | 3

The vapour pressure of pure liquids A and B at 400 K are 450 and 700 mmHg
respectively. Find out the composition of liquid mixture if total vapour pressure at this
temperature is 600 mmHg.

(a) o 16 % BTHYIES! I 3 TG §Y STAT T & IER HARIA HITT | 39 I
=1 gfe hifT | 3
(b) XeOF, &t Tr=AT 3Rfgq Hifs |

3Tt
(a) Tr=fefaa & e dfse

(i) PCl, 3 379 PCI, 3fereh TEEae 2 |

(i) 3TRIA HC/ o et 3tffran steh FeCl, ST 2 7 fo6 FeCl, |

(b)  XeOs ot Tr=AT 3MfRgq Hifs |

" [P.T.O.
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(a) Arrange the hydrides of group 16 in increasing order of the acidic character.

Justify your answer.

(b)  Draw structure of XeOF,.
OR
(a) Account for the following :

(i) PClI; is more covalent than PC/,.

(ii) Iron on reaction with HC/ forms FeCl, and not FeCl,.

(b)  Draw structure of XeOs,.

20. HHS A [CoFg]*~ o foTu Heptor o1 YR, Fravehia saer 37 farm wvme fafiu |
[9TY] |&AT : Co = 27]
For the complex ion [CoF]?~ write the hybridization type, magnetic character and spin
nature.

[Atomic number : Co = 27]

21. (a) T=ferfea sfufsren s @ A, B, C 3 D % dteHTens g3 fofn :

C/

| ~
CH;— CH—CH;— el o _HBr ,p Nl . Me
I AT

KO WS O S b

(b) @rsarR fufrn w1 3fad et At TEmEar ¥ gursT |

(a) Write the structural formula of A, B, C and D in the following sequence of

reaction :

i ale A HBr Nal Mg

N

—> B > C
CH;—-CH-CH; KOH  Peroxide dryether dry ether

(b) Ilustrate Sandmeyer’s reaction with the help of a suitable example.
56/1/2 8
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22. fRR 3T 3R § SO, CL, % T4H Hife & St srqeed | Ffafied st ywgy: 3

& HHA(s) $ ¢S (atm)

1 0 0.3
2 100 0.5
3 fertieh wftehfora hifs

[feam 2 : log 6 = 0.7782; log 3 = 0.4771]

The following data were obtained during the first order thermal decomposition of
SO,Cl, at constant volume :

Experiment Time(s) Total Pressure (atm)
1 0 0.3
2 100 0.5

Calculate rate constant

[Given : log 6 =0.7782; log 3 =0.4771]

23. U feT gog & GHF T dF B2 §5d o 991 g3 | [WHM 3N 3Tk INER Pl guE &
et & o st HieE g8, ife et o1 Ut TrRere § a1ud e TaT o1 3R W h
STEL hl oo It A W S off 3 9 W 9 wret ft 98 1 9 @ 9 | 39 TR wmeEn W
T A Franfi 6t w#ifen gemet 3= sarn 6 g1 @ aifafi| & 99 3 3= wifees
6 TG BT FAMRIH T B T8 3R 3% 3U-39 b <d & S 37 | A1el 3 FHaw
STE | U5 L 3v8 379%6g HL od & | F Tft srtaffieuiia 8§ % SR 9gd 99 7 U8
T&d & | 37d: g8 HUS 3TET SE % Ut T BT =fET S fob Safreientolia &1 £ |

UL feraror bt ugeRt freferfiaa we o 3 &ifs 4

(i) Tt Safrefielia sgoe %1 am fafav | 39 a5 & sl auT g 318
1w fofen |

(i) 39 9t o g YA feAfam |

(iii) ST grU SR fohel & Hea =i ferfare |

56/1/2 9 [P.T.O.
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Once there was a heavy downpour for about three hours in the early morning. Irfan
and his family were finding it difficult to carry out their morning chores as the sewer
water was flowing back into the toilets, the road outside was flooded with water and
they could not move out. On this serious problem, Irfan called a meeting of the
residents and said that we are using too much polythene bags and other plastic items
which we throw here and there, which finally move into the drains and sewer lines
which get choked. As these are non-biodegradable, they remain as such for long time.

So we should use bags made up of cloth and jute who are biodegradable.
After reading the above passage, answer the following questions :

(i) Name a polymer which is biodegradable. Write the structures of its monomers

and the repeating unit.

(ii))  Write two uses of this polymer.

(iii) Write any two values shown by Irfan.

TS TAEH I 99 a1y 1 Iufefa § Hifean wefie % gy wnferd foran wman @ 3
3d1E i UM § Hie W A (A) 1 el foer 9" gar 2 | 39 i faerm wi
R TP g 3TAehd i T Afireh (B) forefora &t simam 2 | Atfite (B) &t KCI %
T HAfiHa HH T A (C) % A T % Bres s7d & | A6 (A), (B) 37 (C) i
TEa Hifee 3 dag TEmfes srfifrad ferfae |

FHYar
(@) (i) 3d 2oft = form s a1q & T8 Ey ., 31 A 9T 2 3T i ?
(il) <rATaE Aol o Ueh Tes o1 9 fIRay St +4 it J7ereer e g 3

w7
(b) Tr=fefaa & fere o fafe
(i) ThHT YT % AR H Sw=aH SATFETehT STare ef¥id aidl 2 |

(i) KMnO, ! 31fihd i o T HC/ 1 39 =&t fomam e |
(iii) HFHUT a7 HUH TEed} 3 I=aH HH S @ |

56/1/2 10
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When chromite ore is fused with sodium carbonate in free excess of air and the

product is dissolved in water, a yellow solution of compound (A) is obtained. On

acidifying the yellow solution with sulphuric acid, compound (B) is crystallised out.

When compound (B) is treated with KC/, orange crystals of compound (C) crystallise

out. Identify (A), (B) and (C) and write the reactions involved.

(a)

(b)

(b)

OR

(1)  Which transition element in 3d series has positive E;Iy M Value and why ?

(ii)) Name a member of lanthanoid series which is well known to exhibit +4

oxidation state and why ?

Account for the following :

(i)  The highest oxidation state is exhibited in oxoanions of transition metals.

(ii) HCl/is not used to acidify KMnO, solution.

(iii) Transition metals have high enthalpy of atomisation.

3119 faerferfad wamaor 8 i ?
(i) = Bl TRHEEEA |

(i) SO T 2-HforeTses -2-31fet §

Frafafaa & wror &

() S5 3T W SR i deT fRfa a2 |

(i) HEiEfeTh Tl % FUH THed TV FeaHH! Tl Ufcegrgel, HH
T Yohlgiell © I Bl & |

(iii) rieRerft e srfufsranatt | wioEE Y e Tude stfes st

BaTe |

11

Schedule a Tutoring Session today!
Call Now: 91729 66488 &)

wWww . premacademy . com

[P.T.O.




56/1/2

(b)

(a)

(b)
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Tr=fefiga srfifranati o 3ame fafeu
0
H H+
@) <:>:O+NH2—NH—C—NH2
(ii) CH3MgBr+C02§?%§:R)
T TSR

(iii) CH,CH,COOH + Br,

2Afirent % Frafafed gmi 4 4 F % fog wa mamfe weo fafeg

(i) ST RSO

(il) SIfcearss 3N S=igh 3T

How will you convert :

(i) Benzene to acetophenone

(ii) Propanone to 2-Methylpropan-2-ol

Give reasons :

(i)  Electrophilic substitution in benzoic acid takes place at meta position.

(ii) Carboxylic acids are higher boiling liquids than aldehydes, ketones and

alcohols of comparable molecular masses.

(iii) Propanal is more reactive than propanone in nucleophilic addition

reactions.

OR

12
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(a)

(b)

26. (a)

(b)

56/1/2
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Write the products of the following reactions :

0
I

.
() <:>=0+NH2—NH—C—NH2L>

(i) CH,MgBr + CO, Dy ether,
H,0"

(@) CH,CH,CO0H & Br, L0 Phosphoniy

Write simple chemical tests to distinguish between the following pairs of

compounds.
(i)  Propanal and propanone

(ii)) Benzaldehyde and Benzoic acid

e U THhGR dldl I TE I Mog FANEe foaeaa § war S 8 df 3Hb W
Al TTd 31 ST B, W T I HIR FAR5S et | v Siar @ df o ot 72

BT | =1d) o 39 Sqag <hl =31 Hifu |

[T R 1 El2r/cy =+ 034 Vi B yi/a, = T 0.80 V, Eg 30, =+ 140 V]

=TT hi =

Zn2"’(aq)/
Fw feu mu fam w fomm FifSte 3t fFrafefaa gei & s it
(i) gL o eI ol fewm @ 2 7

(i) 7o TS SR FASFAAF 7

(i) Ife TTawT |q ger fezm s ot w®mEm ¢

13

Ag (aq)
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(a)

(b)

(a)

(b)
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(iv) & BT B B T E @ Zn2* 3 Ag 1 6t Figar foha Jehr gurfera
Bt 7
(v) 9 B HE BT S L ¢ dl 37 AT b1 Aigal ford TehR gertfad it 2

YT

HHTA HIeT FTTehdl 91 @ 7 A W U gol Sed - 31792y hl Hier ATershdl |
daafgwiadi2 ¢

298 K 1 fr=fearfiga ae1 1 e.m.f. qftenfera $ifsa
Mg(s)\Mgl* (0.1 M)”Cuz*(l 0x107 M)‘Cu(s)
[fa R : E°ge =271 V]

When a bright silver object is placed in the solution of gold chloride, it acquires

a golden tinge but nothing happens when it is placed in a solution of copper

chloride. Explain this behavior of silver.

[Given : B2/, =+ 034 Vi Ef o/, =+ 0.80 V, EJ 3/, =+ 140 V]

Zinc—= Silver
Plate : Plate
Salt bridge S
2y

Ag'(aq)
Consider the figure given above and answer the following questions :

(i)  What is the direction of flow of electrons ?

(ii)) Which is anode and which is cathode ?

(iii) What will happen if the salt bridge is removed ?

14
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(a)

(b)
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(iv) How will concentration of Zn?* and Ag" ions be affected when the cell

functions ?

(v)  How will concentration of these ions be affected when the cell becomes

dead ?
OR

What is limiting molar conductivity ? Why there is steep rise in the molar

conductivity of weak electrolyte on dilution ?

Calculate the emf of the following cell at 298 K :
Mg(s)| Mg2* (0.1 M)|| Cu2* (1.0 x 1073 M)| Cu(s)

[Given = ES, = 2.71 V]
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